[ Efficiency vs vertpos |
- 05

20.45
(2]
Z 04

................................................

>

[S]

§0.38F -
[

£ 03

o
N
AR LA LA BRI LA AR S RRRRNRARRN LRRLERRRLN LRRR)

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitQCDil__RECO
Efficiend —— pom_v0001_R000000001__Global__mkFitQCDmod__RECO

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

Ratio

[y

10 20 30
TP vert z (cm)

o

15

o

o

|

o e
[

=

o

o

[ Efficiency vs. sim PV z |
~ 05
> E E E E E

0. 0.45F - preyees priyeees AR

£ 3 : : : :
R
e S T S
P F : : : :

S 0.3F i ! R oeeeas
o E : : :

o o : : :

£ 0.25F- -y jrmmrme e e
o

++
0.2 4 ++= -t ++++
0.15 :

o
=
TTTT
n
L
-
,
.-

o

o ¢

[
mm ==y RN

LO 15 20
Sim. PV z (cm)



	Contents
	Page 1


